Accessories
Universal Adapters For A.B.S. Curved and Profile Backs

_______________ - r——""""""—”" /=
A~ :
S e
//// /////
(I\) // /// e P
L & ©
\
7 \
of .
el Y

A.B.S.Curved Back
Universal Adapter Assembly

[ B Profile Back
Universal Adapter Assembly

-



Accessories

Universal Adapters For A.B.S. Curved and Profile Backs

Universal Adapter Assembly., A.B.S. Curved Back

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 0260522-NLA | NLA - Bar, Multi-Attachment, A.B.S. Curved Back, 1 1
5/8" Spacing
1 B 0063522-NLA | NLA - Bar, Multi-Attachment, A.B.S. Curved Back, 1 1
3/4" Spacing
2 0178922 Bar, Universal Adapter Mounting 1 1
3 0049824-NLA | NLA - Spacer, Coved (1/4 x 3/4 x 7/16") 1 2
4 0258406-NLA | NLA - Screw, Socket Head, Cap (#10-32 x 1-1/4") 1 2
5 0052906-NLA | NLA - Screw, Socket Button Head (1/4-20 x 3/4") 1 4
6 CE 0180400 Universal Adapter Assembly, 1 1
ABS Curved Back, 5/8" Spacing
6 D.E 0138200-NLA | NLA - Universal Adapter Assembly, 1 1
ABS Curved Back, 3/4" Spacing
F 1072851 Bar, Multi-Attachment, A.B.S. Curved Back, 5/8" 1 1
Spacing
F 1072850 Bar, Multi-Attachment, A.B.S. Curved Back, 3/4" 1 1
Spacing
F 1084663 Universal Adapter Assembly, 1 1
ABS Curved Back, 5/8" Spacing
F 1084664 Universal Adapter Assembly, 1 1
ABS Curved Back, 3/4" Spacing
NOTE: A -5/8" Spacing (Use 1072851 For 14" Back Heights Only)
B - 3/4" Spacing (Use 1072850 For 14" Back Heights Only)
C - 5/8" Spacing (Use 1084663 For 14" Back Heights Only)
D - 3/4" Spacing (Use 1084664 For 14" Back Heights Only)
E - Includes Items 1-5

F - Not Shown




Accessories

Universal Adapters For A.B.S. Curved and Profile Backs
Universal Adapter Assembly, Profile Back

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
7 C 0260422 Bar, Multi-Attachment 1 1
7 D 0179022 Bar, Multi-Attachment 1 1
8 0178922 Bar, Universal Adapter Mounting 1 1
9 0049824-NLA | NLA - Spacer, Coved (1/4 x 3/4 x 7/16") 1 2
10 0258406-NLA | NLA - Screw, Socket Head, Cap (#10-32 x 1-1/4") 1 2
11 1077793-NLA | NLA - Screw, Socket Head (1/4-20 x 3/4") 1 3
12 B,C 0311300 Universal Adapter Assembly, Profile Back, 5/8" 1 1
Spacing
12 B,D 0180300 Universal Adapter Assembly, Profile Back, 3/4" 1 1
Spacing
A 0202400-NLA | NLA - Back Pack, Basic Tilt and Tilt Only 1 1
A 0020200-NLA | NLA - Kit, Legrest with Screws, Otto Bock (6" W x 9" 1 1
H)
A 0020300-NLA | NLA - Adapter Plate, Otto Bock Legrest Pad 1 1
NOTE: A - Not Shown
B - Includes ltems 7-11
C - 5/8" spacing
D - 3/4" spacing




